Sr Questions Answers Choice
1 Question Image |
A. Real, equal
B. Real, |
2 Roots of the equation 4x2-4x+1=0 are: c In?:gi#:r?/qa
D. Irrational
3 Two square roots of unity are: A 1,-1
4 Question Image |
5 Question Image |
A. Imaginary
B. Rational
6 If b2-4ac > 0, but not a perfect square then roots of ax2+bx+c=0 are: c. Irfa;(i)onr?al
D. None of these
A. Irrational
B. Rational
7 If b2-4ac<0, then the roots of ax2+bx+c=0 are: C. |maa|;22ry
D. None of these
A0
8 Product of cube roots of unity is: g j1
D.3
A. 0
9 Sum of the cube roots of unity is: ?: 11
D.3
10 Cube roots of -1 are:
A. Irrational
B. | i
11 Roots of the equation 4x2-5x+2=0 are: c lr?n:t%rrlzlry
D. None of these
12 Question Image |
13 Question Image |
A. Reciprocal equation
. ) B. Radicall ti
14 An equation of the form 2x4-3x3+7x2-3x+2=0 is called a/an: c Eipéiaeﬁ(’?i:%:}%nation
D. None of these
15 The solution set of equation 4x2-16=0 is: B. {4}



